Multiple choice questions answer sheet for Examinations

It is important you fill in the form as required, marking the letters and numbers you need with a dash
across them, as per the 555 below as an example. The form will look like this:
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1 £Aa cBa cCa tDa cEa 31 cAa £Ba cCa cDa cEa 61 cAacBac 91 cA>cBicCorDacEr N
2 cA3 cBa cCa D cEa 32 cA3 cBa cCa cD3 cE 92 cA3cBa3cCacDacEr I
3 cA3 cB2 cCa D3 cEa 33 cA3 cBa cCa cDa cEa 93 tA> cB3cCacDa cEx N
4 cA> cBacCacDa cE 34 cAx cBacCacDacE 94 cA>cBacCocDacEx
5 cAa B3 cCa cDa cEa 35 cAa cBa cCa cDa cEa 95 cA2 cBacCacDacEx [
6 A3 cBa cCa cDa cEa 36 A2 cBa cCa cDa cE 6 Az cBa tCa cD3 cEa 96 tAs cBacCacDacEx N
7 cAa cBa cCa cDa cEa 37 cA> cBa cCa D3 'cA3 cBa cCa cDa cEa Q7 cAacBacCacDacEs N
8 cAa cB3 £C D3 cE3 38 A1 cB3 cCa ¢ 68 tA3 cBa £C3 cD3 cE3 98 cA3 tB1cCocDacEa N
9 cA3 cBa cCa cDa cEa 39 cA> B3 69 A3 cBa cCa £Da cE 99 cA3 B3 cCacDacEs I
10 A3 cBa £Ca tDa cEa 40 tA3 B3 ¢ 70 A cBa £Ca cDa cEa 100 cA3 cBa tCa cDo cEa
11 cA3 cBa cCa cDa cEa 41 cAac 71 tAa cBa cCa cDa cEa 101 cA2cBacCocDacEx M
12 cAa cB3 cCa D3 cE 42 cAo cBac 3 cEa 72 cA3 cB3 cCa cD3 cE3 102 cA2 B2 cC3cD cEs N
13 A3 cBa cCa tD3 cEa A3 £Ba cCa D3 cEa 73 tA2 £B3 cCa tDa cEa 103 cA3 B2 cCocDacEx N
14 cA2 cB3 £Ca D3 cEa ) ¢Ba cCa D3 cEa 74 cA3 B3 cCa cD3 cE3 104 cA3 cB2 cC2 <D cE>
15 cAa cBa cCa cDa ¢ A3 cB3 cC3 cDa cE3 75 cAa cBa cCa cDa cEa 105 A cBa cCa D cEa
16 cAa cBa cCa D3 46 cA3 cBa cC cDa cEa 76 cA cBa cCa cDa cEa 106 tA7cBa cCacDa cEx NI
17 cA3 cB3 £Ca cD3 cEa 47 cA3 £B3 £C3 £D3 cEa 77 cA3 cBa cCa D3 cEa 107 cA2 cB2 cCa D2 cEs NN
18 A3 cBa £Ca cD3 cEa 48 cA3 cBa £C3 tDa cEa 78 A3 cB3 cCa cD3 cEa 108 A2 B2 tC2 D3 cEa
19 cAa cBa cCa cDa cEa 49 cAa B3 cCa cDa cE 79 cAa eBa cCa cDa cEa 109 cA2cBacCacDacEx N
20 £A3 cBa cCa cDa cEa 50 cA3 cBa cCa cDa cE3 80 A= cBa cCa D3 cEa 110 cA3 B3 cCacDa cEo M
21 cA3 cBa cCa D3 cEa 51 cA3 cBa cCa D3 cEa 81 cAa cB3 cCa cDa cEa 111 cA3cBacCacDacEx N
22 A3 B3 cCa cDa cEa 52 cA3 cBa £Ca tD3 cEa 82 tA2 cB3 cCa cDa cE3 112 cA2cBacCacDIcEx I
23 tA3 B3 £Ca D3 cEa 53 cA3 cB1 £Ca D5 cEo 83 A3 cB3 cCa D3 cE3 113 cA2 B cCacDacEr I
24 cA> cB3 cCa cDa cE 54 cA> cBa cCo D2 cEa 84 cA3 B3 cCa cDa cEa 114 cA3 cBa cCa cDa cE ==
25 cAs cBa cCa cDa cE3 55 cA3 cBa £Ca D3 cE: 85 cAa B3 tCa £D3 cEa 115 cAs cBa cCa cDa cEa

26 cA2 cBa cCa £Da cEa
27 cAa cBa cCa cDacE
28 A3 cB2 £Ca £D cEa
29 cA3 cB3 cCa cD3 cE3
30 cA3 B £Ca D3 cEa

56 A2 cBa £Ca cDa cEa
57 tA3 B3 cCa cDa cEX
58 tA3 B3 cCa tD3 cEa
59 cAa cB3 cCa cDa cEa
60 cA3 B3 cCa D cEa

86 A3 B3 cCa cD3 cEa
87 cA3 cBa cCa cDa cEa
88 cAa cBa cCa cDa cEa
89 cA3 cBa cCa cDa cEa
90 cA3 £Ba cCa £Da cEa

116 £A3 £Ba cCa cDa cEa
117 cAa cB3 cCa cDa cE3
118 cAa tBa £C3 cDa cE3
119 cAa cBa cCa cD2 cEa
120 cA3 cB3 cCa D2 cEa



